76 : 2 =                    699 : 3 =                      Z.  8211 : 7 = 
752 : 4 =                           6744 : 6 =
855 : 5 = 
854 : 7 = 
756 : 6 = 
856 : 8 = 


70 : 5 =
84 : 6 = 
96 : 4 =
91 : 7 = 
96 : 8 = 
Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl


      
Selbstkontrolle: 
12, 122,  309, 14, 1173, 233, 14, 107, 24, 38, 188, 13, 126, 171, 1124



76 : 2 = 38                   699 : 3 = 233                  Z.  8211 : 7 = 1173
752 : 4 = 188                       6744 : 6 = 1124
855 : 5 = 171
854 : 7 = 122
756 : 6 = 126
856 : 8 = 107


70 : 5 = 14
84 : 6 = 14
96 : 4 = 24
91 : 7 = 13
96 : 8 = 12
Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl


      
Selbstkontrolle: 
12, 122,  309, 14, 1173, 233, 14, 107, 24, 38, 188, 13, 126, 171, 1124




414 : 3 =                             702 : 3 =                      8016 : 6 = 
  605 : 5 =                      9300 : 5 = 
5408 : 4 = 
5034 : 3 = 


303 : 3 = 
604 : 2 = 
804 : 4 = 

Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl



Selbstkontrolle: 
121, 302, 101, 1336, 234, 138, 1860, 201, 1352, 1678




414 : 3 = 138                              702 : 3 =   234            8016 : 6 = 1336
  605 : 5 =   121            9300 : 5 = 1860
5408 : 4 = 1352
5034 : 3 = 1678


303 : 3 = 101
604 : 2 = 302      
804 : 4 = 201
Reihenfolge:

- Dividieren
- Multiplizieren
- Subtrahieren
- Fahrstuhl




Selbstkontrolle: 
121, 302, 101, 1336, 234, 138, 1860, 201, 1352, 1678



